Pre-Calculus

Name:

Limits at a Point — Day 2 Date: Period:
Complete the table and use the result to estimate the limit.
1) lim(5x+4) 2) liml(2x2 +x—4) 3) lim "}*3
Y32 X—>- xo-3 x° _9
x /(%) x /(%) x /(%)
1.99 -1.01 -3.01
1.999 -1.001 -3.001
2 -1 -3
2.001 -0.999 -2.999
2.01 -0.99 -2.99
4 lim—2"2 5) lim S02 6) lim ¥
=2y T —x=2 x=0 X -0 Dy
70 : 70 : 70
1.99 -0.01 -0.01
1.999 -0.001 -0.001
2 0 0
2.001 0.001 0.01
2.01 0.01 0.001

Determine whether a limit exists. If it does, find the limit. If it doesn’t exist, explain why.

7) lim f(x).f(x)

9) lim
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12) limsin 7x
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2x+1,
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10) lim In (7-x)

X—=>—

13) Jipg ——=——

x—4 x—4

-2x,

x2—4x+1,

11) limcos l

x—0

14) lim _—w;

x—2

x<2
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Limits at a Point — Day 2 Date: Period:

Complete the table and use the result to estimate the limit.

1) lim(5x+4) = 1Y 2) lim(2+" +x-4) = ~3 3) lim xf’g :‘—\(; 2 -, lel
x—2 X—— x—=-3 x° —
x f(x) % /(%) x /(x)
1.99 1%.95 -1.01 ~2 .a7 -3.01 - 1ol
1.999 13.995 ~-1.001 -2.2471 -3.001 ~lblbb
2 i -1 -3 =3 eyrvoav-
2.001 |4. 00S -0.999 -3.00> -2.999 ~ o7
2.01 H4.05 -0.99 ~-3.03 -2.99 - 1609
x=2 - . sin2x . tanx
Dl E® 333 9 iR -] o lgo T
x S(x) x /() x /(%)
1.99 33445 -0.01 L&A | 99P -0.01 ., 50002
1.999 323,y -0.001 AT 2 -0.001 5
2 evver 0 erve~ erior 0 2 vYyov
2.001 . 333 2% 0.01 ote (-999 0.001 . S50 00
2.01 25223 0.001 e e 0.01 5

Determine whether a limit exists. If it does, find the limit. If it doesn’t exist, explain why.
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